sUk0N03N
Features size table
JRTK39..~JRTK159..
h2 Ls KM Lt L1
E J refer to motor size table on 268 page L2 A D =‘1
‘ i ) reTier o motor size lasﬂe 0n268 page
- O i ! i
o ® T T :C o & -
8 A=Y 5
LQ ¢ £ < —~O ‘ O
DF) { n e ‘ O%
92 c LS
t b f
e2
|
I2 11 u
T % @
(S
JRTKA49B..~JRTKA159B..
I3 | 4
I5
l6
{ d
al®) ©/hs l4 l4
u1
|
I S
J 17 % =
|
N =
© Ol S
| 17 -
§O O§ S1 Is

197 ——



eU0NOAN

a e, g, h, ' m Shaft dimension
Model : (:2 gz h, l : n d [ :; s Ltj
115 | 148 | 32
JRTK39.. 110 | 141 | 28 | Pos| 16 11 8 | 2566 | 50 ° | wmo | %8
63 _ 36 40 8
100 | 120 | 60 08
130 | 1635 | 37
IRTKAS.. 130 | 177 | 85 | '2es| 18 11 B sk | 60 | 25 | mo | B
JRTKAGSB. | = || DT, 47 50 8
150 | 186 | 45
JRTK59.. w0 | 1745 | 30 | 13| 2 135 7L R 7| e | 38
JRTKASOB.. | | | | 80, 445 56 10
160 | 200 | 45
JRTKE9.. o | 181 | ao | 14005 | o4 135 2 | o6 | 8o 5 | wis | 4
JRTKABIB.. 90 61 70 12
140 | 170 | Ao 05
200 | 255 | 55
JRTK79.. 5o | soe | 4o | 18| 7 75 5 | s | 100 | 10 | wee | 535
JRTKATOB. | o | | | 1124 55 80 14
283 | 295 | 70
JRTK89.. 0 | 20 | 55 | 22| - 2 | coms | 120 5 | oo | 0
JRTKABOB.. | | o | o | 1824 80 110 18
205 | a74 | 75
IRTKSS.. 240 | 306 | 75 | 2| 36 2 7% 1 zome | 140 | 7° | meo | 45
JRTKA99B.. | | oo || 160, 66 125 20
JRTKA09.. 300 1 498 9 ) gy 98 5 95
280 | 380 | 95 - | 40 33 9om6 | 170 M24
JRTKA109B. | | | o | 2005, 100 160 25
420 | 526 | 110
JRTKgZé 350 | 440 | 115 | 22| 45 39 " qome | 210 | 0| mpa | 16
JRTKA129B. | | | | 225, 100 180 28
500 | 634 | 130
JRTK159.. w0 | 450 | 140 | %95 | so 2 130 | 1o0ms | 210 5 | yoa | 127
JRTKATSOB. | " | (| e | 280, 100 200 32
hollow shaft dimension L,
Model d, d, [ I I s, t, H L L, N Q
L e | u,
110
JRTK39.. - - - - - - ~ e || 189 | 85 | 120
JRTK49.. 78 15 | 22 383 135
RTKAdop. | 38H7 | 80 | o 5 12 M12 X 30 o | 1825 | o, | 168 | 72 | 160
JRTK59.. 86 18 | 29 433 153
RTKAsoR. | 4OH7 | 55 | oo 5 i M16 X 40 | 218 | g | 178 | 181 | 160
JRTKE9.. B | 20 | 29 433 171
RTkasss. | OH7 [ s | o e M16 X 40 o | 25 | g | 770 | 20 | 160
IRTKTS. 50H7 | 70 1081 225 % M16 X 45 8 1 aes | 2% | 202 | 318 | 200
JRTKAT79B.. 105 | 4 183 14 101 '
IRTKES. 60H7 | 85 128 % % M20 X 50 4 1 s | 2 | 257 | 259 | 250
JRTKAB9B.. 120 | 4 | 210 18 116 '
IRTKSS. | o7 | g5 | 193 | 30| % mox50 | 0 | a0e | 20| 277 | ses | 00
JRTKAQ9B.. 150 | 4 | 270 20 146 '
JRTKI09. [T e [ 0 [ 40 waxeo | B s | | e | s | s
JRTKA109B.. 175 | 25 | 313 25 175
JRTKI29. [T [ 2 [ 40 [ 38 woaxeo | 1% s | 8 | s | s | aso
JRTKA129B.. 205 | 25 | 373 28 203
o 1207 | 1ss | oo | a0 | 2| waaxeo | oot vos | % | as | 717 | se0
JRTKA159B.. 250 460 32 250 '

198



eU0NOAN

JRTKH49B..~JRTKH159B..

h2

L3

KM

refer to motor size table on 268 page

refer to motor size table on 268 page

L1

AD

refer tomotor size table on 268 page
L

L2

L4

A
| 1
13
15
T T I=
JRTKV49B..~JRTKV109B..
L1 L
L2 | |
L4 1
Pl Sk
~ ,‘ 5 ylz 13|14
| 15
© oC E | .
%O | O§ Dm=d2 M




eU0NOAN

a e hollow shaft dimension
b e1 9 h, j k
Model . ¢ 9; h, n [ I1 2 I3 l4
130 | 1635
JRTKH49B.. 102 | 75 32 20 37
130 | 177 | ¥ | 1126s| 1s 11 35
JRTKV49B.. 100 | 1a5 3B | T, 47 75 32 18 32 18
JRTKH59B.. | 120 | 18 | 45 | ia a0 | 112 | 8 | 26 | 20 | 3
130 | 1745 ws | 21 135
JRTKV59B.. 130 | 157 | P | 8Os 445 | g3 32 18 ) 18
160 | 200
18 | 9 38 20 43
JRTKHGIB.. 120 181 o] 140,51 oy 13.5 40
JRTKV69B.. 0 | 170 | 0| 0 61 9 42 25 42 25
200 | 255
JRTKH7OB.. | oo | oo | 85 | 180,,| o e 55 136 | 105 | 36 30 4
JRTKV79B.. | 165 | 200 | 0 | 1124 8 | 105 | 52 | 23 | 52 | 23
233 | 295
161 | 120 | 4 40 46
JRTKHB9B.. | (oo | o0 | 70 [220s] 3 o 62
JRTKVB9B.. | 150 | 230 | 2> | 1320s 80 | 120 | 62 | 25 | 62 | 25
295 | 374
JRTKH99B.. 75 195 | 150 | 55 50 60
240 | 306 | 265 | g5 2% 79
JRTKV99B.. 240 290 1 60_0_5 66 150 72 25 72 o5
JRTKH109B.. Zgg ggﬁ % |ats | . . 9 | 230 | 175 | 65 | 60 | 75
JRTKV109B.. 270 340 95 200 100 175 89 26 89 26
420 | 526
110 280 | 205 | 85 70 95
JRTKH129B.. | 350 | 440 | . 2;: < 45 39 ::);
330 | 400 -0 - - - - -
500 | 634
130 330 | 250 | 90 80 | 100
JRTKH159B.. | a80 | 480 | gzg -« |50 39 138
420 | 500 - - - - - -
hollow shaft dimension L
! Ls N Q
Model Is d dh d2 ds M S H L L, L.
JRTKHA9B.. | 25 |35H7 | 35n6 | 50 88 - - 120 | 166
JRTKVA9B. | 115 | 370 | =42 | 4 |38.92%q| 35x230x16| Miox30 | 2% | 75 | 1o | 5 | 72 | 160
100 - -
JRTKH59B.. | 25 | 40H7 | 40h6 | 55 213 | gz | 138 | 3| 5y | 460
JRTKV59B.. | 130 | 37" | =42 | 4 |38.92%|35x2x30x16| M10x30 18 3
JRTKHG69B.. 25 40H7 | 40h6 55 100 - - 142 179
JRTKVB9B. | 130 | 470" | =52 | 4 |48.85%q| 45x230x21 | Misxs0 | 220 | 90 | 50 | 35 | 20 | 160
JRTKH79B.. | 35 | 50H7 | 50n6 | 70 | 124 - - 176 | 202
JRTKV79B. | 160 | 5550 | =62 | 4 |54.13%q|50x230x24 | Misxso | 285 | 105 | oop | 4 | 313 | 200
JRTKH89B.. | 45 |65H7 | 65h6 | 85 | 165 - - 199 | 257
JRTKVBIB.. | 180 | 72" | =82 | 4 |68.96%| 65x2x30x31| M2oxeo | 3% | 120 | o9 4 | 29| 250
JRTKH99B.. | 55 |75H7| 75h6 | 95 | 200 - - o9 | 277
JRTKVO9B. | 240 | 72207 | 590 | 4 |74.15%s|70x2x30x34| M2oxeo | 409 | 150 | “of |, | 323 | 300
JRTKH109B..| 70 |95H7 | o5h6 | 118 | 196 - - o6 | 341
JRTKV109B..| 290 | 90" | =105 6 |90.99%,, | 85x3x30x27 | M20x60 503 175 40 25 52 350
105H7|105h6 229 - -
JRTKH1298.. |0 135 so2 | 205 | 290 | 30| | 4
_ _ - _ _ - - 40 | 25
125H7| 125h6 315 - -
JRTKH1598..—2 1% B B 705 | 250 5155‘ 456 717 | 550

JRTKVZ...Spline shaftis a cording to DIN standard .If you need GB or ISO standard . Please contact with us.

200



eUI0NO03AN
JRTKA39..~JRTKA109..
JRTK..39/T..~JRTKA109/T..
A-Te] " A
) o . [
Sl J’ O
[
b c =
L1 KM ‘ |
L2 a -
referto motor size table on 268 page
ZN 2 1 Egm
? 7 E
o ] 4 = (<'n:) féo R
9 - / 18 ] : o
© ﬁ _l_ﬂ,
9
f
P

JRTKA39.. JRTKA49.. JRTKAS9..
JRTKABI..
- m
: |2’|3
20 300
‘ ™
o
El
50 | o

d2

¢ IR I ' JRTKA79.. JRTKAS89.. JRTKA99..

d-

201 ——



eU0NOAN

Hollow shaft dimension Torque arm form
: 7 h :1 : | | g h d r |: N
1 4 1 1 3 1
Model © g n . 31 l, Is t 9 h, I, S L, @
2 g lg u 9 h, I x
60 | 100 20 63 | 60 | M10 | 235 | 100,, [10.4 £0.1| 225 162
JRTKA39.. 12 | 30H7 8.5
35 147 1100, M10 60 17 33.3 20 10 31 M10X25 | 213.5
JRTK..39/T.. ’ M8 45 120
82 | 97 4 25 | 105 | 8 | 20 | 14002 | 36u0s 60° 139
70 114 20 78 75 M12 30 112,, |10.4 £0.1 225 183
JRTKA49.. 12 | 35H7 7.2
40 177 1112, M10 75 22 38.3 20 12 31 M10X30 | 243.5
JRTK..49/T.. M8 50 160
100 | 122 4 3 | 132 | 10 | 20 | 160732 3603 55° 166
88 129 25 86 83 M16 40 132, 164+0.08 29 212
JRTKAS9.. 20 | 40H7 131
47 |1915(132 .| M12 83 29 | 433 18 13 54 M12X35 | 267.5
JRTK..59/T.. M12 55 160
105 | 1245 5 3 [ 142 | 12 | 18 | 192792 | 600s 55° 173
88 | 136 25 94 | 90 | M16 | 45 | 140,, | 164+008 29 225
JRTKAGY.. 20 | 40H7 20
42 196 |140,, | M12 90 29 | 433 25 13 54 M12X35 | 274
JRTK..69/T.. M12 55 160
110 | 129 5 35 | 156 | 12 | 25 | 20072 60-03 55° 179
102 | 155 32 108 | 105 | M16 | 525 | 180, | 164+0.08 29 284
JRTKA79.. 20 | 50H7 31.3
48 | 205 |180,, | M16 105 | 32 | 538 | 25 14 54 M16X40 | 312
JRTK..79/T.. M12 70 200
122 | 140 6 4 183 14 25 250 *gf 60-0.3 60° 202
118 | 182 32 123 | 120 | M20 60 212, 25+0.08 41 335
JRTKAS9.. 26 | 60H7 : 25.9
65 274 1212, | M16 120 36 64.4 30 16 72 M16X45 | 386.5
JRTK..89/T.. M16 85 250
160 | 286 6 4 210 18 30 300 *gf 80-0.3 60° 257
160 | 244 36 153 | 150 | M20 70 265, 25 +0.08 41 410
JRTKA99.. 26 | 70H7 323
83 | 309 |265, | M20 150 | 34 | 749 | 40 17 92 M20X50 | 4335
JRTK..99/T.. M16 95 300
165 | 196 6 4 | 270 | 20 | 40 | 3502 | 10003 50° 277
190 | 266 44 178 | 175 | M24 74 315, 25 +£0.08 4 500
JRTKA109.. 90H7 52
100 | 370 315, | M24 R 175 40 95.4 45 20 92 M24X60 | 537
JRTK..109/T., 118 350
190 | 230 8 25 | 313 | 25 | 45 | 450%7 | 100-03 55° 341

202



eU0NOAN
JRTKH39..~JRTKH109.. JRTK..39/T..~JRTKA109/T..
’—‘ @D

=

i

—
$

e

]
>

—
b c
L1 KM S—
L2 refer to motor size table on 268 page Iz ©
le
~©
| /e// \\? & I N Tt
A 0
T x&%d Z[ 2 go s aierlomoli-vsgelab\eonzsapag
BRI / ila ] £ Lay
ﬁ> ° 7©) (g%%
—
9 ] @
f
@9 I—
)
P
c m @ °

JRTKV39..~JRTKV159..
16 L3
Ll
‘
o1
ﬁ& }T JRTK..39.. JRTK..49.. JRTK..59..
JRTK..69..

Me=d2
1
|
L
]
d1

JRTK..79.. JRTK..89.. JRTK..99..

203 ——



eU0NOAN

a e k 5
b f h m q | I1 l2 I3 l4 I5 13
© g n
JRTKH39.. 60 100 20 12 86 60 31 20 36 25 104
JRTKV39 % 147 19005 | MO 25 18 18 85 62
- 8o 97 4 M8 60 25
JRTKH49.. 70 114 20 12 102 75 32 20 37 25 120
JRTKV49 40 177 ] 1200 | MO 32 18 18 115 77
“ | 100 122 4 M8 75 82
JRTKH59.. 88 129 25 20 112 83 26 20 31 25 136
JRTKV59 “ 1915 1 19205 | M12 2 32 32 18 18 130 85
“ | 105 | 1245 5 M1 83
JRTKH69.. 88 136 25 20 118 90 38 20 43 25 142
RTKV69 a2 196 | 14005 | MT2 M12 42 42 25 25 130 90
i “ | 110 129 5 90
JRTKHT9.. 102 155 32 20 136 105 36 30 41 35 176
RTKV79 ‘8 205 | 18045 | M16 M12 2 52 23 23 160 105
J c | 122 140 6 105 5
JRTKHS9.. 118 182 32 26 161 120 41 40 46 45 199
RTKV89 6o 274 | 2M20s | M6 62 62 25 25 180 | 120
J “ | 160 | 286 6 120
JRTKH99.. 18630 igg sos J:O 26 195 | 150 55 50 60 55 209
-0.5
25
JRTKV99.. 165 196 6 M16 150 72 72 25 240 150
44
JRTKH109.. | 199 | 266 230 | 175 65 60 75 70 246
100 | 870 | 3150 | M24 ) 89 26 26 200 | 178
JRTKV109.. 190 230 8 175 89
91 h, dg r
S . :: 1 La N
d d1 d2 ds S M 9, 2 I S 1 C 2 H
Model 94 hs lg a °
235 | 100-05|104+0.1| 225 | 2135
T e il - - 20 10 31 |M10X25| 139 29 8o
JRTKV39.. | 37,07 | =42 133.08%.{ 2.75 | M10x30[30x1.25x30x22| oo | 140792| 3605 | go° 60 | 162 | 120
_ 30 112-05 | 10.4+0.1| 225 2435
JRTKH49.. | 35H7 50 35h6 | 88 - 2 0 3‘: wioxos| 166 3 7.2
JRTKVAS.. | 37" | =42 88.92%q 4 |M10x30| 35x2x30x16 | o9 [160'32| a3g_03 | 55° 75 | 1825 | 160
40 132-05 [16.4+0.08] 29 267.5
JRTKH59.. | 40H7 | 55 40h6 | 100 - - 18 13 ;‘4 vioxas| 173 3 13.1
JRTKVSS.. | 375°" | =42 38.92%d 4 |M10x30| 35x2x30x16 | 1 192732 | @005 | 55° g3 | 213 | 160
45 140-0.5 |16.4 +0.08 29 274
JRTKHB9. | 40H7 | 55 | 40n6 | 100 | - - o A it P s 35 | 20
JRTKVES.. | 47{°" | =52 (18.85% 4 |M16x50| 45x2x30x21 | o5 |200°32| 60-05 | 55° 90 225 | 160
525 | 180-05 [16.4=0.08] 29 312
50H7 | 70 | 50h6 | 124 | - - 4 | 313
JRTKHTS.. 25 14 54  [M16X40| 202
JRTKV79.. | 555" | =62 [54.13%.{ 4 |M16x50| 50x2x30x24 | o5 [250732| €005 | 60c | 105 | 285 | 200
60 |212-05|25:008| 41 3865 | 4
JRTKHS9.. 65H7 85 65h6 | 165 - - %0 16 72 MH6x45| 257 25.9
JRTKVEY.. | 72" | =82 B8.96%.{ 4 |M20x60| 65x2x30x31 | 30 |300'32| 80-05 | 60° 4 335 | 250
70 | 265-1 |25+008| 41 | 4335
JRTKHS9.. | 75H7 | 85 | 76n6 | 200 ] - - 40 17 92 |M20x50| 277 v
JRTKVOO.. | 72:°7 | =90 [4.15% 4 |M20x60| 70x2x30x34 | 40 |350°92| 100-0s | 50° | 150 | 409 | 300
0.7
74 315 -1 | 25+ 0.08 41 537
JRTKH109. | 95H7 | 118 | 95h6 | 196 | _ - o o ; S VA B 25 52
JRTKV109.. | 90z | =105 90.99%, 6 |M20x60| 85x3x30x27 | 45 | 450%°% | 100-0s | 55° 175 | 500 | 350

JRTKV...Spline shaft is a cording to DIN standard .If you need GB or ISO standard . Please contact with us.

204



eU0NOAN

JRTKHF39..~JRTKHF159..

L3 KM
L4
refer to motor size table on 268 page
g _
// iy
&
Y \ ﬁ_i o |
@ A T°
\ | |- — —
N -
-7 )
I

refer to motor size table on 268 page

JRTKVF39..~JRTKVF109..

16 L1 L2,
11
g - Flg.1 Flg.2
fleas=i it g :
omeds. Flange form

ah)
N

a | ¢ f Hollow shaft dimension Lol Ls

g H| Lz | N

Model  |Flange| b e h I [ h|l2|Is|la |15 ]| l6 d [di| d2 | ds m s L. | Q
form

JRTKHF39.. 160 35 | 130 |86 | 60| 20| 31| 36 | 25 | 104|307 | 45 | sone [ 80 | - - o

JRTKVF39.. | "9 | 1106 | 10 [100-04 60 | 25| 18| 25| 18 | 85 | 62 |37 0 | >42[38.08%x|p 75| x| wioka| 162 | 70 | 1o

JRTKHF49. | _ | 200 | 35 11615 102| 75 | 20| 32| 37 | 25 120 | 35H7 | 50 | 35h6 | 88 - il Zg 1762‘5

JRTKVF49.. | 9" | 1306 | 10 [112.0 75 | 32| 18] 32| 18 | 115] 77 |37 0| =42[38.92%| 4 | sxaxanxts [Miox30|'®) 102 | 155

JRTKHF59.. 250 | 4 | 215 |11283|20|26| 31 | 25 |136| 40H7 | 55 | 40h6 | 100 - - 83 | 173

Flg.1 ! 13.5 010 ; 213 | 235 | 13.1

JRTKVF59.. 180j6 | 15 [132.05 83 | 32|18 |32| 18 [130| 85 |37 1" | =42(38.92%s 4 | ¥x2x30x16 | MI0X30 267.5| 160

JRTKHF69.. s 250 | 4 12;55 118/ 90| 20| 38| 43 | 25 | 142 | 40H7 | 55 | 40h6 | 100 - il o gg 12709

JRTKVFG9.. | ' O | 180j6 | 15 14045 90 | 42| 25 | 42| 25 |130] 90 [47 0" | =52[4885%] 4 | sxeeddeat |MisXs0 274 | 160

JRTKHF79.. s 300 | 4 1235; 136(105| 30 | 36| 41 | 35 | 176| 50H7 | 70 | 50n6 | 124 - " | es 13075 3210%

JRTKVF79.. | > | 2306 | 16 |180.55105| 52 | 23| 52| 23 | 160|105 551 "| >62[54.13% 4 | 0x2xixzt |Mi6Xs0 312 | 200

JRTKHF89.. s 350 | 5 13;)% 161(120| 40 | 41| 46 | 45 | 199 | 65H7 | 85 | 65h6 | 165 - il P 1328 225,5;

JRTKVFBY. | ' ' |250n6| 18 |p1554120| 62 | 25 | 62| 25 | 180120 (721" | >82|68.96%| 4 | soxexamxt |MeoXe0 3865 | 250

JRTKHF99.. Floo 450 | 5 fg% 195[150| 50 | 55| 60 | 55 |229| 756H7 | 95 | 75h6 | 200 - " 400 115% 527;

JRTKVF99.. | ' 0~ |350n6| 22 26505150 72| 25 | 72| 25 [240(150(720" | >90|7415%x| 4 | T0x2x30x% | M2OXE0 4335 | 300

JRTKHF109.. 450 | 5 | 400 |230(175| 60| 65| 75 | 70 | 246 | 95H7 | 118 | 95h6 | 196 - - 175 | 341

Flg.2 175 T - 500| 41 | 52

JRTKVF109.. 350h6| 25 (315, 175| 89 | 26 | 89| 26 |290| 178 (901" "|=10590.9%%x| @ | &x3x20x27 | M2OX60 537 | 350

550 | 5 | 500 [280(205|70|85| 95 | 80 |299 [105H7| 135 | 105h6 | 229 - - 205 | 390

JRTKHF129.| Fig.2 175 592| 51 | 53

450M6| 22 | 375, | - | - |- [ - | - |- |- | - [ -] - |- - - 615 | 450

660 | 6 | 600 |330(250| 80|90 |100| 90 |354|125H7| 155 | 125n6|315| - - 250 | 705

JRTKHF159..| Fig.2 22 705| 60 |71.7

550h6| 28 450.1 - - - - - - - - - - - - - 706 550

JRTKVF...Spline shaftis a cording to DIN standard .If you need GB or ISO standard . Please contact with us.

2056 ——



eU0NOAN

JRTKF39..~JRTKF159.. ] L
1
I
KM &
]
referto motor size table on 268 page |
‘ | 2 |1
TN A
- - %»_o ©
o 11 R 1] ) -D‘

AD

refer tomotor size table on 268 page

ég
13 la__ls
le le
—Hdt
g I ﬂ

SSUUTTRINMIMIRIBNRY

Flg.1 Flg.2
I8

Flange form

a c f Shaft dimension Hollow shaft dimension Li| L
L

Model |Flange| b e 9 d I, t d, ls ls S 4 i : )
g h S Iy I, 1 u L, Q

form | l, u d Is lg !
JRTKF39.. 160 | 35 | 130 | 2566 | 5 o8 |3o0H7 | 63 | €0 33.3 57.5 | 139
Flg.1 , 9 M10 60 | 17 | M10X25 162 | 134 | 85
JRTKAF39.. 110j6| 10 | 100 | 50 | 40 8 45 | 24 | 105 8 2135 120
JRTKF49.. 200 | 35 | 165 | 30k6 | 35 33 |3sH7| 78| 7® 38.3 72 | 166
Fig.1 _ 11 M10 75 | 22 | M12 X30 1825 160 | 7.2
JRTKAF49.. 130i6| 10 | 112 | 60 | 50 8 50 | 25 | 132 10 2435 | 160
JRTKF59.. RE 123155 35k6 | 7 o | 38| 40H7 gg gg wis w0 | 33| 21 18707 11;5;*
JRTKAF59.. | 0" | 180j6| 15 132 | 70 | 56 10 | 55 | 235 142 12 267.5| 160
JRTKF69.. 250 | 4 | 215 40k6| 5 43 | 4oH7| 94| 90 433 86.5 | 179
Fig.1 , 135 M16 9 | 29 | M16 X40 225 | 193 | 20
JRTKAFG69.. 180j6| 15 140 80 70 12 55 23 156 12 274 | 160
JRTKF79.. o 300 | 4 12255 50k6 | 10 e 535 | 50H7 }82 13?25 V16 X 45 53.8 285 ;2; 3?1023
JRTKAF79.. | 9" | 230i6| 16 180 | 100 | 80 14 | 70 | 37 | 183 14 312 | 200
JRTKF89.. 350 | 5 | 300 |e60m6| 5 64 | 60H7 | 123 | 120 64.4 138 | 257
Flg.1 175 M20 120 | 36 | M20 X50 335 | 270 | 25.9
JRTKAF89.. 250h6| 18 | p1p | 120 | 110 18 | 8 | 39 | 210 18 3865 | 250
JRTKF99.. Flu 450 | 5 ;1;)% 70m6| 7.5 120 745 | 70H7 } gg 135:? V20 X 50 74.9 406 ;g; 5272,
JRTKAF99.. o 350h6| 22 26-5 140 125 20 95 415 ]| 270 20 4335 30'0
JRTKF109.. Fluo 450 | 5 ;100 9om6| 5 Vo4 95 | 90H7 1;2 1‘Z§> V24 X 60 95.4 00 ;gg 341
. 7.5 5 52
JRTKAF109.| ' O |350n6| 25 315 | 170 | 160 25 | 118 | 41 | 313 25 537 | 350
JRTKF129.. Fluo 550 | 5 | 500 |110m6| 15 Vo4 116 | 100H7 ggg 23085 V24 X 60 106.4 sop ‘2122 390
9. 175 53
JRTKAF129.. 450h6| 22 |57z, | 210 | 180 28 | 135 | 51 | 373 28 615 | 450
JRTKF159. | _ 660 | 6 | 600 [120m6| 5 Vioa 127 | 120H7 ggg 235: Vo4 X 60 127.4 o5 ggg 705
g. 22 717
JRTKAF159.. 550h6| 28 | 4e0,| 210 | 200 32 | 155 | g0 | 460 32 706 | 550

206



eU0NOAN

JRTKAZ39..~JRTKAZ159..

13 L4 e
| L1 KM
L referto motor size table on 268 page
TN z o8
= T
2 <
—1 3% ©
£ )
) = AD
refer to motor size table on 268 page
2:1
e
f 0%
S\ZsmmmiEy
c |b|la

'\‘§£’
s
JRTK..Z39.. JRTK..Z49.. JRTK..Z59.. JRTK..Z79.. JRTK..Z89.. JRTK..Z99..
JRTK..Z69..
JRTKHZ39..~JRTKHZ159.. JRTKVZ39..~JRTKVZ1009..
16 L4 e l6 L4 e
et
[
[ [
E
s1 ; °
l_lz_{ 13 |14
14 .'i( IZ
3] = i . K
‘ — = Dm=d2 \M

207 ——



eU0NOAN

a e D1 L1 L4
b m D2 L2 f H | I1 l2 I3 la I5
Model & D L Ls n

JRTKAZ39.. 3 9 110 2135 60 60 17 105 63 - -
JRTKHZ39.. 115 M8 9 97 94 |162 86 60 31 20 36 25
JRTKVZ39.. 12 80j6 139 147 8.5 60 25 18 25 18 85
JRTKAZ49.. 3 8.5 120 2435 75 75 22 132 78 - -
JRTKHZ49.. 11 M8 9 120 102 [1825] 102 75 32 20 37 25
JRTKVZ49.. 12 80j6 166 175 7.2 75 32 18 32 18 115
JRTKAZ59.. 35 9 155 267.5 90 83 29 142 86 - -
JRTKHZ59.. 12 M12 135 1245 125 |213| 112 83 26 20 31 25
JRTKVZ59.. 20 105i6 173 1915 | 13.1 83 32 18 32 18 130
JRTKAZ69.. 35 8.5 155 274 105 90 29 156 94 - -
JRTKHZ69.. 12 M12 135 129 125 |225| 118 90 38 20 43 25
JRTKVZ69.. 20 105i6 179 196 20 90 42 25 42 25 130
JRTKAZ79.. 35 10 170 312 105 105 32 183 108 - -
JRTKHZ79.. 14 M12 13.5 140 142 |285| 136 105 36 30 41 35
JRTKVZ79.. 20 125i6 202 205 31.3 105 52 23 52 23 160
JRTKAZ89.. 4 11 215 386.5 120 120 36 210 123 - -
JRTKHZ89.. 15 M16 17.5 186 178 |335| 161 120 41 40 46 45
JRTKVZ89.. 26 155i6 257 274 25.9 120 62 25 62 25 180
JRTKAZ99.. 4 14 260 4335 150 150 34 270 153 - -
JRTKHZ99.. 18 M16 17.5 196 220 |409| 195 150 55 50 60 55
JRTKVZ99.. 26 180j6 277 309 32.5 150 72 25 72 25 240
JRTKAZ109.. 4 12 304 537 175 175 40 313 178 - -
JRTKHZ109.. | 22 M20 22 230 260 |500| 230 175 65 60 75 70
JRTKVZ109.. | 30 210j6 341 370 52 175 89 26 89 26 290
JRTKAZ129.. | 2 0 | 350 | 615 | 205 205 38 a73 | 208 - -
JRTKHZ129.. b V20 22 288 300|592 280 205 85 70 95 80

28 250h6 | 390 440 53
JRTKAZ159.. 5 14 400 706 250 250 36 460 53 _ ~
JRTKHZ159.. 28 M24 26 298 340 |705 3

36 290h6 | 426 480 71.7 0 250 90 80 100 90

Model I d di d2 ds u T S S M

JRTKAZ39.. - 30H7 45 - - 8 33.3 M10x 25 _ -
JRTKHZ39.. | 104 30H7 45 30h6 80 - - - - -
JRTKVZ39.. 62 305" =42 2.75 |33.08%.4: - - - M10x 30 [30x1.25x30x 22
JRTKAZ49.. - 35H7 50 - - 10 38.3 M12 x 30 _ -
JRTKHZ49.. | 120 35H7 50 35h6 88 - - - - -
JRTKVZ49.. 77 375 =42 4 38.92 %. 0: - - - M10x30 | 35x2x30x16
JRTKAZ59.. - 40H7 55 - - 12 43.3 M16 x 40 - -
JRTKHZ59.. | 136 40H7 55 40n6 100 - - - - -
JRTKVZ59.. 85 375 =42 4 38.92 %. s - - - M10x30 | 35x2x30x16
JRTKAZ69.. - 40H7 55 - - 12 43.3 M16 x 40 _ -
JRTKHZ69.. | 142 40H7 55 40h6 100 - - - - -
JRTKVZ69.. 90 473 =52 4 48.859 - - - M16 x50 | 45x2x30x21
JRTKAZ79.. - 50H7 70 - - 14 53.8 M16 x 45 - -
JRTKHZ79.. | 176 50H7 70 50h6 124 - - - - -
JRTKVZ79.. 105 555" =62 4 54.13 %. s - _ - M16 x50 | 50 x 2 x 30 x 24
JRTKAZ89.. - 60H7 85 - - 18 64.4 M20 x 50 - -
JRTKHZ89.. | 199 65H7 85 65h6 165 - - - - -
JRTKVZ89.. 120 723 =82 4 68.96 % 0 - - - M20 x 60 | 65x2x 30 x 31
JRTKAZ99.. - 70H7 95 - - 20 74.9 M20 x 50 - -
JRTKHZ99.. | 229 75H7 95 75h6 200 - - - _ -
JRTKVZ99.. 150 723" =90 4 74.15 %04 - - - M20 x 60 | 70x2x 30 x 34
JRTKAZ109.. | - 90H7 118 - - 25 95.4 M24 x 60 - -
JRTKHZ109.. | 246 95H7 118 95h6 196 - - - - -
JRTKVZ109.. | 178 90" =105 6 90.99 % 0a - - - M20 x 60 | 85x3x30x27
JRTKAZ129.. - 100H7 135 - - 28 106.4 M24 x 60 - -
JRTKHZ129.. | 299 | 105H7 135 105h6 229 - - - - -
JRTKAZ159.. | - 120H7 155 - - 32 127.4 - - _
JRTKHZ159.. | 354 | 125H7 155 125h6 315 - - - - -

JRTKVZ...Spline shaftis a cording to DIN standard .If you need GB or ISO standard . Please contact with us.

208



eU0NOAN

22505 390 KM AD
45 . " refer tomotor size table on 268 page
refer to motor size table on 268 page 208 205
. 2 . 2.5 .
Sy B
©l| o H ) g $
gl 8 2 2 18 al T
R S T 9@ | ©
@) £ o ¥ S
k3 o
B : © 2 q
R - b
& > 196
o
= DTy, o
350 [T [T
440 330
400
JRTK..129/T.. A B
Fs& Qi}} ‘,’i@s} \2%’
© Q Pe St
P ¢ » | ¢
[te)
° ©g\ 20 b |©g -
Sl Y Bl s P
1 8 . o
+H
¢ T o) || 110
ml %
N b
= 12603
4
JRTKA129.. JRTKH129..
208 205 296 205
40 40

@?%g

$233
)

©

o

&
A
]

2
g
.

B!

~
I
” 205 205 280 205 5
—— ~ ©
< 3 - — K3
© - | 2
o <
e — T
70
N~
85 e
é 3 e
M24X60 | e ©
-~ 3 | e @
sl 1 [ }
o
<
95 80 2
o
©

209 ——



eU0NOAN

AD
280-1 426 KM refer to motor size table on 268 paf
50 T 253 250
refer to motor size table on 268 page 40
g [
g iReh 91525
g g & ol 23 3
el ” MJIE < &4 ° 0 el |
£ 9
: b | e
— - <
o
B < S 1 ©¢
8 140 100 {}a (5{}
380 1 :ﬁ
480 420
500
JRTK..159/T.. A B
e e}
1l Pel| ¢ °
b | e b | ¢
3 Hp o= e - oYy |
i N S| [Phs d?)
o ~
STm w.‘ Ltiy o !_7 T
N F§ o
11 [AL=]
2 2

JRTKA159.. JRTKH159..

253 250 370 250
40 40
’gb o 9 e o 8
991 © el _Po! OE
1S | © © _@_
= @) L

»125H7
b 155H7

$125h6

120 H7
$ 155

K
S

210




eU0NOAN

JRTK159..
200, 340
$33
[0]0)
{ [4;» ! b H T e 20 ] a 250
2 220 15
n 40
I s O B I PR _
|
. e
|[ES=Ea=rs N 1 -
€
3
A
M30
3154 522 KM
265 | 210

referto motor size table on 268 page

=
-
($x}

o)
P

20
AC
refer to motor size table on 268 page
® 550

786
| 250
A

o
n
<
o |
B
-1
— J 1
(=]
50 $ 33 0
70 210
555 | 555
T
480 315
I
1 o
8 =z ===y T
m; ; T -
1 h H} + £ &
S » L @ Q
3 5 ©

104 ©33
580

211 ——



eU0NOAN

JRTKH16

200

9..

340

¢33

D0 |

AD

table 0n 268 page

31591 522 KM
265 210 refer to motor size table on 268 page
115
° ;)4{ {}} <
S| & J @ e N 3
S = o
R 2 )/ gl ol 8
5% < [-9
2 E
< - :
O/ H
] |
Ny | I
—{ J ]
o
50 $33 ©
70 210
442 305
T
423 | 305 = 480 65
112 g °
= r I jf
~
z 2 ol
©® e r - ] 0
- - I -~
) 4 _
: ST
© e - | A )
=) o
3| |130 100 3 oo 3
; ar < 8
o
¢

¢33

580

212




eU0NOAN

JRTK189..
215 405
ol ® 39
320
[0 300 | 10
H 45
[m)] s
1B B ol 1
95 £ (7
L s =}
5 (=]
| : N
el pa M .
o
=
©
M30
355-1 582 KM
305 250 refer to motor size table on 268 page
13§
ol o ﬁ (<] e
| I
8L A
g s N | o
< [=) <
(2] o I} ‘(!
o] - —
[Te) — e} ||
S
[ i [
50 - $ 39 o
Te}
60 250
657 | 657
\
540 387
|
(=}
© R :
O
s gl g Hl <
© < ~ S &
s 3 S
p—— < Y
110 39
640

213 ——



eU0NOAN

JRTKH189..
215 405
$39 .
FEFERH J |
- e :
L
[+ H+H=+11
35591 582 KM
305 250 refer to motor size table on 268 page
135
3]
J/@ J] T N
8 o JJ gT Q %ﬁ
() o <=1
o| @ g
o s
© of i | e
1 i
I~ [ I
— J 1
o
50 $39 ©
60 250
474 337
an
~ 540 65
5 10.5
©
~ < ] | ]
z 2 ol | [ _
: el M Tk &
o ol B | RiE
<
3 ! . %oT
T 0[P 9
7 i ]
9

214

640

¢ 39




eU0NOAN

JRTK..AD..

K2
L1
= L14 L13 U1
/
N .
/ /2N [ ) ! H
N (] = =
NI - "
D%
— M .
G2 K2 D1 L1 L13 L14 T1 U1 M
AD1 102 16 k6 40 4 32 18 5 M5
JRTK..39 120
AD2 130 19k6 40 4 32 21.5 6 M6
JRTK..49 AD2 123 19k6 40 4 32 21.5 6 M6
JRTK..59 160
JRTK..69 AD3 159 24k6 50 5 40 27 8 M8
AD2 116 19k6 40 4 32 21.5 6 M6
JRTK..79 AD3 200 151 24k6 50 5 40 27 8 M8
AD4 224 38k6 80 5 70 41 10 M12
AD2 111 19k6 40 4 32 21.5 6 M6
AD3 156 28 k6 60 5 50 31 8 M10
JRTK..89 250
AD4 219 38k6 80 5 70 41 10 M12
AD5 292 42k6 110 10 70 45 12 M16
AD3 151 28k6 60 5 50 31 8 M10
AD4 214 38k6 80 5 70 41 10 M12
JRTK..99 300
AD5 287 42k6 110 10 70 45 12 M16
AD6 327 48k6 110 10 80 51.5 14 M16
AD3 145 28k6 60 5 50 31 8 M10
JRTK.109 AD4 208 38k6 80 5 70 41 10 M12
350
AD5 281 42k6 110 10 70 45 12 M16
AD6 321 48k6 110 10 80 51.5 14 M16
AD4 193 38k6 80 5 70 41 10 M12
AD5 266 42k6 110 10 70 45 12 M16
JRTK..129 AD6 450 306 48k6 110 10 80 51.5 14 M16
AD7 300 55m6 110 10 90 59 16 M20
AD8 383 70mé 140 15 110 745 20 M20
AD5 258 42 k6 110 10 70 45 12 M16
JRTK..159
AD6 298 48k6 110 10 80 51.5 14 M16
JRTK..169 550
JRTK..189 AD7 292 55m6 110 10 90 59 16 M20
AD8 374 70m6 140 15 110 74.5 20 M20

215



eU0NOAN

JRTK..R..
K
KM
Y
[ | L [l O
<<
)|
AC K KM AC K KM
DNG63.. 120 373 198 DN100.. 198 599 352
JRTK..39R19 DN71.. 135 403 228 DN112M 221 628 383
DN8O0. 156 454 279 JRTK..109R79 DN132S 221 628 383
DN63.. 120 363 198 DN132M 263 708 463
JRTK..49R39
DN71.. 135 393 228 DN160.. 314 755 508
JRTK..59R39
DN8O.. 156 444 279 DN8O.. 156 540 260
DNG3.. 120 363 198 DN9O.. 175 552 272
DN71.. 135 393 228 DN100.. 198 617 347
JRTK..69R39
DN80.. 156 444 279 JRTK..129R89 DN112M 221 656 378
DN90.. 175 516 351 DN132S 221 656 378
DN63.. 120 355 198 DN132M 263 736 458
DN71.. 135 385 228 DN160.. 314 783 503
JRTK..79R39
DN8O0.. 156 436 279 DN9O0.. 175 592 267
DN9O.. 175 508 351 DN100.. 198 667 342
DN63.. 120 408 192 K..159R99 DN112M 221 696 373
DN71.. | 135 437 221 K169R99 DN132S | 221 696 373
DN80 488 272 KHT69R99
" . 156 132M 263 776 453
JRTK..89R59 K189R99 DN13
DN9O0.. 175 500 284 KH189R99 DN160.. 314 823 498
DN100.. 198 575 359 DN180M 355 944 19
DN63.. 120 403 192 DN180L 355 992 667
DN71.. 135 432 221 DN9OL 175 702 320
DN8O.. 156 483 272 DN100.. 198 718 336
JRTK..99R59 % . ”
DN90.. 495 4
175 K_150R109 DN112M 221 747 367
DN100.. 198 570 359 K169R109 DN132S 221 747 367
DN112M| 221 603 392 KH169R109 DN132M 263 827 447
DNG63.. 120 433 186 K189R109 DN160.. 314 874 492
DN71.. 135 461 214 KH189R109 DN180M 355 995 613
JRTK..109R79
DN8O.. 156 512 265 DN180L 355 1043 661
DN9O.. 175 524 277 DN200L 397 1056 674

Notes:The dimension of motorin the above table is only for reference .If you have special require, pls consult us.

216



£U30N03M
Coupling for mounting of IEC motors
S5 Form.1 Z5 Form.2 Z5
,/ _ T =)
~ R V. ol o « R p
10) ¢ 10)
lﬁa,g
(=) > (=)
. adapter .
Gear unit type Form | B5 D E5|F5| G2 | G5 | S5 Z5 D1 L1 T1 U1 |Weight
JRTR..29,JRTR..39 AM63 95G7 115 140 V8 72 11F7 23 12.8 4 5.7
10n6
JRTF..39,JRTF..49 AM71" 11067 130 160 92,5 | 14F7 | 30 | 16.3 5 4
JRTK..39 Py 1 4.5(120 1F7 | 40 | 218 | 6
80’ 12n6 . 5.5
JRTS..39,JRTS. .49, 13067 165 200 | M10 | 118
JRTS..59 AM90" 14n6 24F7 | 50 | 27.3 8 6.3
AM63 95G7 115 140 66 | 11F7 | 23 | 12.8 4 6.1
71 10n6 Me 14F7 | 30 | 16.3 5
JRTR..49.JRTR..50, AM 1 110G7 130 is 160 87 . 6
JRTR..69 AMS80 12n6 19F7 | 40 | 21.8 6 10
130G7 165 200 | M10 | 113
JRTF..59,JRTF..69 AM90 14n6 160 2ar7 | 50 | 273 8 10
JRTK..49,JRTK..59,
JRTK..69 AM100" 16n6 11.1
JRTS. 69 180G7 2155 250 144 | 28H7 | 60 | 31.3 8
- AM112" 2 18n6 M12 11.1
AM132" 230G7| 22n6 | 265 300 177 | 38H7 | 80 | 41.3 | 10 20
AM63 95G7 115 140 11F7 | 23 | 12.8 4 8.1
10n6 M8 | 60
AM71 . 110G7 130 45 160 14F7 | 30 | 16.3 5 8.8
AMS80 12n6 19F7 | 40 | 218 | 6 11.6
130G7 165 200 | M10 | 92
AMO90 14n6 24F7| 50 | 27.3| 8 11.6
IRTR-T9 AM100" 12.6
16n6 200 )
JRTF..79 180G7 215 250 136 | 28H7| 60 | 31.3 | 8
JRTK..79 AM112" 18n6 12.6
JRTS..79
AM132S" 2 5 M12 25.1
) 22n6
AM132M 230G7 265 300 196 38H7 80 41.3 10 25.1
AM132ML" 28n6 25.1
AM80 12n6 19F7 | 40 | 21.8| 6 17.8
1 |130G7 165|4.5 200 | M10| 100
AM90 14n6 24F7 | 50 27.3 8 17.8
AM100 16n6 18.9
180G7 21 2 131 | 28H7| 60 | 31.3| 8
JRTR..89 AM112 1806 | 21° %0 5
JRTF..89
JRTK..89 AM1328 5 | 250 M12 27.7
22n6
JRTS..89 AM132M | 2 153067 265 300 191 | 38H7| 80 | 41.3| 10 | 27.7
AM132ML 28n6 27.7
AM160" 28n6 42H7 453 | 12 | 40.7
250G7 300 |6 350 | M16 | 236 110
AM180" 32n6 48H7 51.8| 14 | 43.7

256



Form.1 Z5 Form.2
S5
B i
B 20,
a Isd,,,,lll a
Flg.2
S5 ]
\ T1 j
& Y
; 7
adapter | ; Form Weigh
Gear unit type g B5 D E5 F5 | G2 | G5 S5 Z5 | D1 L1 T1 U1 eight
AM100 16n6 19
180G7 215 250 126 | 28H7| 60 |31.3| 8
AM112 18n6 19
AM132S son6 5 M12 33
n
JRTR..99 | AM132M 2 |230G7 265 300 186 | 38H7| 80 |41.3 | 10 | 33
JRTF..99 1
JRTK..99 AM132ML 28n6 300 33
JRTS..99 | Am160 28n6 42H7 453 | 12 | 485
250G7 300 | 6 350 231
AM180 32n6 48H7| 110 | 51.8 | 14 45
M16
AM200 1  [300G7 38n6| 350 | 7 400 268 | 55F7 59.3 | 16 58
AM225" | 2 2  |350G7 38n6| 400 | 6 450 303 | 60H7| 140 | 4.4 | 18 62
AM100 16n6 22
180G7 215 250 120 | 28H7| 60 |31.3| 8
AM112 18n6 29
AM132S 5 M12 37.2
22n6
JRTR..109 | AM132M 2 |230G7 265 300 180 | 38H7| 80 |41.3 | 10 | 37.2
JRTF..109 1
- AM132ML 28n6 350 37.2
JRTK..109
AM160 28n6 42H7 453 | 12 | 52.8
250G7 300 | 6 350 225
AM180 32n6 48H7| 110 | 51.8 | 14 | 55.8
M16
AM200 300G7 38n6| 350 | 7 400 262 | 55F7 59.3 | 16 66
AM225 2 2 |350G7 38n6| 400 | 6 450 297 | 60H7| 140 | 64.4 | 18 67
AM132S 48.2
22n6
AM132M 2 |230G7 265 | 5 300 | M12 | 173 | 38H7| 80 |41.3 | 10 | 482
AM132ML 1 28n6 48.2
JRTR..139 AM160 28n6 400 42H7 453 | 12 64.2
250G7 300 | 6 350 218
AM180 32n6 16 48H7| 110 | 51.8 | 14 61
AM200 1 [300G7 38n6| 350 | 7 400 255 | 55F7 59.3 | 16 71
AM225 2 2  |350G7 38n6| 400 | 6 450 290 | 60H7| 140 | 64.4 | 18 68

257



=Ul0No3Mm

Form.1

Z5

7

Form.2

Z5

-

7
7

/ ) , o wl Y w—nJ
2| i 4{4’{/{/{///% o o ]
a ) a
Flg.2
S5 - -
T1 -
> 2
. adapter )
Gear unittype Fig.| Form | B5 D E5 | F5 | G2 | G5 | S5 | Z5 | D1 | L1 T1 | U1 Weight
AM132S 2o 58.3
AM132M 23067 ““™ | 265 | 5 300 | M12 | 165 |38H7| 80 | 41.3 | 10 | 583
AMTSML || 2 28n6 58.3
JRTR..149 | AM160 25067-22" 1 500 | 250 a10 L42H7 453 | 12 | 713
JRTF..129 | AM180 32n6 450 48H7| 110 | 51.8 | 14 | 68
JRTK..129 | Am200 1 |300G7|38n6 | 350 400 | o | 247 |55F7 59.3 | 16 | 85.8
AM225 350G7| 38n6 | 400 | 450 282 | 60H7 644 | | 78
AM250 | 2 | 2 65H7| 140 | 69.4 119.5
450G7| 48n6 | 500 550 336
AM280 75H7 79.9 | 20 [119.7
AM132 230G7| 3206 | 265 | 5 300 | M12 | 165 |38H7| 80 | 413 | 10 | 70
AM160 2 | s067l 28] oo | 250 s0p 142H7 453 | 12 | 88.4
JRTR..169 | AM180 | 1 32n6 48H7| 110 | 51.8 | 14 | 86
JRTF.159 1 Amoo 1 [300G7] 38n6 | 350 400 | v | 239 |55F7 59.3 | 16 |102.9
JRTK..159 550
JRTK. 169 | AM225 350G7| 38n6 | 400 | 450 274 | 60H7 64.4 | .| 95
AM250 | 2 | 2 65H7 | 140 | 69.4 130
JRTK..189 450G7| 48n6 | 500 550 328
AM280 75H7 79.9 | 20 | 138

Dimension 1/2 G5 may protrude past foot mounting surface if mounted on R.K or S foot-mounted gear unit,Please check.

258




Excellence From Expertise

JDIAUVE
7. The size of motor
\
\ B =
I <
= O |
=] <
’ o |
Three- Three-
phase Q KM 7] L2 L3 AD AC phase Q KM L1 L2 L) AD AC
asynchronous|  mm mm mm mm mm mm mm | asynchronous  mm mm mm mm mm mm mm
motor model motor model
120 198 258 258 336 120 351 429 429 478
DN63 109 120
160 192 252 252 330 160 344 422 422 471
120 228 289 289 346 200 337 415 415 464
DNO9OL 149 175
160 221 282 282 339 250 332 410 410 459
DN71 128 | 135
200 214 275 275 332 300 327 405 405 454
250 209 270 270 327 350 320 398 398 447
120 368 459 459 495
120 279 351 351 407
160 359 450 450 486
160 202 344 344 400
200 352 443 443 479
DN80 200 265 337 337 393 138 156 DN100 157 198
250 347 438 438 474
250 260 332 332 388
300 342 433 433 469
300 256 328 328 384
350 336 427 427 463
120 291 369 369 418 160 392 480 456 538
) |l =es i Ene || S Jjehia 200 | 383 | 471 | 447 | 529
200 277 355 355 404
250 378 466 442 524
DN90S 149 175 DN112 171 291
250 | 272 | 350 | 350 | 399 300 | 373 | 461 | 437 | 519
300 267 345 345 394 350 367 455 431 513
350 260 338 338 387 400 360 448 424 506

272




JRT Intelligent Gearmotors

Three-phase [ KM L1 L2 L3 AD | AC || Theephase | KM L1 Lz L3 AD | AC
asynchronous asynchronous
motor model mm mm mm mm mm mm mm motor model mm mm mm mm mm mm mm
160 | 442 | 530 | 506 | 588 400 | 606 | 716 | 646 | 751
200 | 433 | 521 | a97 | 579 DN18OM | 450 | 598 | 708 | 638 | 743 | 280 | 355
550 | 590 | 700 | 630 | 735
250 | 428 | 516 | 492 | 574
DN132S 171 221 250 | 672 | 782 | 712 | 817
300 | 423 | 511 | 487 | 569 200 | 862 |7zt | 707 | gz
350 417 505 481 563 350 | 661 771 701 806
DN180L 280 | 355
400 | 410 | 498 | 474 | 556 400 | 654 | 764 | 694 | 799
160 | 491 | 601 | 557 | 681 450 | B46 | 726 | GBB | 791
550 | 638 | 748 | 678 | 783
200 | 480 | 590 | 546 | 670
300 | 680 | 804 | 728 | 826
250 | 474 | 584 | 540 | 664 250 | 522 | 798 | 722 |ezo
DN132M/L| 300 | 470 | 580 | 536 | 660 | 228 | 263 DN200 400 | 667 | 791 715 | 813 305 | 397
350 | 461 | 571 | 527 | 651 450 | 659 | 783 | 707 | 805
400 | 456 | 566 | 522 | 646 350 | Bl | #75 | 688 | #37
300 | 693 | 827 | 751 | 846
450 | 448 | 558 | 514 | 638
350 | 687 | 821 | 745 | 840
200 || 5R=i|| o0 | @0 | 740 DN225S | 400 | 680 | 814 | 738 | 833 | 335 | 445
250 578 695 695 785 450 | 672 806 730 825
300 | 573 | 690 | 690 | 780 550 | 664 | 798 | 722 | 817
DN160M | 350 | 567 | 684 | 684 | 774 | 251 | 314 eOl | 718 | 858 | 778 |[ 871
350 | 712 | 846 | 770 | 865
400 | 572 | 689 | 689 | 779
DN225M | 400 | 705 | 839 | 763 | 858 | 335 | 445
290 | 894 | b6l | eb1 | 771 450 | 697 |831 | 755 |850
550 | 556 | 673 | 673 | 763 550 | 689 | 823 | 747 | 842
200 613 730 730 820 400 | 793 948 883 1038
i || e || 758 | 758 | BiE DN250 | 450 | 785 | 940 | 875 | 1030 | 358 | 485
550 | 777 | 932 | 867 | 1022
300 | 603 | 720 | 720 | 810
400 | 863 | 1010 | 1031 | 1165
DN160L | 350 | 597 | 714 | 714 | 804 | 251 | 314 || nogns| 450 | 855 | 1002 | 1023 | 1157 | 386 | 547
400 | 602 | 719 | 719 | 809 550 | 847 | 994 | 1015 | 1149
450 | 594 | 711 711 801 400 | 914 1061 | 1082 | 1216
sz0 | 256 | 708 | 708 | 783 DN280M| 450 | 906 | 1053 | 1074 | 1208 | 386 | 547
550 | 898 | 1045 | 1066 | 1200
250 | 624 | 734 | 664 | 769
DN315 | 660 | 1130 | 1286 | 1175 | 1331 | 530 | 635
DN18OM | 300 | 619 | 729 | 659 | 764 | 280 | 355 550 | 1500 | 1850 | 2000 | 2350
DN355 655 | 710
350 | 613 | 723 | 653 | 758 660 | 1500 | 1850 | 2000 | 2350
Notes:

L1 is the KM value for motor with brake.

L2 is the KM value for asynchronous motor with frequency.
L3 is the KM value for asynchronous motor with frequency and brake.

If you have any special requirements,please contact us.

273



